JEE-Main-28-07-2022-Shift-2 (Memory Based)

MATHEMATICS

| b

Question: If P[ JZE; P[éJ:z and P(ArwB):-]—. Given
7 B 9 9

| 4on

S EP(_.»’;T.’UB) =y Sy = .P(A’MB') =%j then:

o

Options:

(a) Both S, and .5, arc correct

(b) S, is truc and §, is falsc

(c) S, is falsc and §, is truc

(d) Both S, and S, arc falsc
Answer: (d)

Solution:

PANB) 5 o P(ANB)

(riven: :i
- P(4) 7 P(B)

P
9

As P(ANB) :%} we get

Given, §, = P(A’u B) :E

6
S, =P(A'nB) :%, then;

As P(Am;_?):%g we get P(.A.)z% & P(B):%

S8, 18 wrong.

. . = . .
Question: Absolute maximum valuc of f(.r) = tan (Sll’l x—cosyx) is:
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Options:
(a) 0

(b) tan '

(c) Z

(d) tan”' /2
Answer: (d)
Solution:

U 8inx—Ccosx € [—\E\EJ

So maximum value of tan™ (sin X —CO0S x) is tan”' \E

Question: The valucs of A for which the lines

arc coplanal', arc.

Options:
(a) £3

(d) £4/2

Answer: (d)
Solution:

i

For coplanarity

[
[ A7
2 0

=1(427)=2(0)+ 27 (-24%)=0
= ~24%+447 =0
= A7 (47-2)=0

jﬁzixﬁ

Question: From point (2,0] tangents arc drawn on 2y°

circle (,x:—S)?' +3° =r". The value of 1777 is:

Options:
(a) 1

(b) 12
()9

(d) 4

Answer: (¢)

=0

—x . Thesce tangents also touches the
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Solution:

ke
P = ,’2 ——
g 2
: 1
Equation of tangent = y = mx + [——j

16}?’32=1:>m=il
4

Tangent are y:i,x—i & y:_eri
2 4 2

Equation of tangent to (x—35) + )" =7 are:

x—4y=2 & dy+x=2

Using d =r, we get

e 5+0—2‘_F
J17 J17
2 9
==
17
=17+ =9

cos 2x —x* sin(x—1)

Question: Let f(x)=lim

e hs 1+“{_2u+1 _XE.I.I
Options:
(a) R—{1}
(b) R—{-L1}
(c) R—{{Ll}
(d) R-{0}
Answer: (b)
Solution:
For |x| <1, /'(x) =cos27x
sin(x—1
ot 5|2, =SB
H=l
[ if  x=1
For |x = ] f‘(x):f'(1+5in ?)
- ll—“ if x=-1

lim /(x)=-1, lim f(x) =1
il

r=l”

So f is discontinuous at x = |

: . : sin 2
.1'Il>1;rll" / (A ) B 1? .1.'113—1}' f (x) T 2

S0 f(x) 1$ discontinuous at x =—1

. 1S continuous at:

-

T
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Question: A class have B boysand G girls, 3 boys and 2 girls sclected at random and number

of ways of sclecting 3 boys and 2 girls arc 16&8. Then 5+ 3G is cqual to
Answer: 17.00

Solution:

(riven that

HC._%-“C_«, =168

B(B-1)(B-2) G(G-1)

1)

(B-1)(

HB=8 &z =3

= B+3G=8+9=17

o

=168
= B(B-1)(B-2)G(G-1)=7-6-4-3-2-2
= B B-2)G(G~1)=8-7-6-3-2

Question: Let f(,r) =ax” +bx+c¢ and f(l) =3 f(—2) = /Lf(S) =4, then the valuc of A for
which £(0)+/()+/(=2)+f(3)=141is__.

Answer: 4.00

Solution:

Given, [ (1) = ax’ +bx+¢

f((]) =i

f()=a+b+c=3 ..(1)
Fl2)=da-Sbre=i  ..(2)
f(3)=9%a+3b+c=4 _.(3)
By solving (2) & (3)

4 - /ju

a+bh=—

5
Also, c=3+1+4=14
c=T-4
- Putting in (1)
4ii+?—i=3

5

A=4
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